
Flatpack Assembly Manual

M1 Vertical GPU 
Configuration



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly ManualFlatpack Assembly Manual

M3-FS-5

X3
21

CAUTION: do NOT overtighten screws. Once resistance is encountered, do not tighten 
more than one-quarter turn. Each fastener is different in length or head-shape, and 
putting them next to each other is an excellent way to identify them.

ThumbScrew-10
M3 Thumb Screw

Standoff-6
M3 FemaleStandoff Screw

Screw-5
M3 Flat Sunk Screw

CScrew-8
M3 Countersunk Screw

CAUTION: do NOT overtighten screws. Once resistance is encountered, do not tighten 
more than one-quarter turn. Each fastener is different in length or head-shape, and 
putting them next to each other is an excellent way to identify them.

Extra Accessory

PCIe4 bracket 16

Fan + Radiator Bracket18
Front IO cover (A)19

21
20

22

Front IO Cover (R)

ATX Power Supply Bracket

15mm Tall Angled Feet

PCIe4 cable17

Glass Window Panel15

2

1

3

4

5

8

6

7

9

10
11 12

13 14

15

16

17
19

20
21

22

Parts

SFX PSU Bracket5

Bottom Panel9
Rear Panel 1

Top Panel7

Case Feet x411
Power Cable12
PCIe Covers13
USB IO Cables14

Side Panels x23

Motherboard Tray6

Dual 120mm Fan Plate 10
Front Panel2

Dual Blade Fan Bracket8

Drive Brackets x24

18



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly ManualFlatpack Assembly Manual

3 4

Remove 

Install

M3-FS-5

X2
M3-FS-5

X2



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly ManualFlatpack Assembly Manual

5 6
M3-FS-5

X4

M3-CS-8

X4

M3-FSS-6

X4

M3-FS-5

X4



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly Manual

7

M3-FS-5

X3

M3-FS-5

X2

Flatpack Assembly Manual

8

M3-FS-5

X3

M3-FS-5

X2

Install Install



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly Manual

Remove

Flatpack Assembly Manual

M3-FS-5

X4

9 10



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly Manual

M3-FS-5

X4

Install

Flatpack Assembly Manual

10
M3-FS-5

X8
11 12



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly Manual

13
M3-FS-5

X4

Flatpack Assembly Manual

14
M3-FS-5

X2



M1 Vertical GPU ConfigurationM1 Vertical GPU Configuration

Flatpack Assembly Manual

30°

Lift 1mm first

Install

15

Remove 

30°

Flatpack Assembly Manual

16



M1 Vertical GPU Configuration

Flatpack Assembly Manual

17
M3-TB-10

X2

M1 Vertical GPU 
Configuration




